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(e E=1m) ‘ HES1cm H#h_E = 50cm HmEE1m
9:14 FERETER 0.028 0.030 0.030
. seAEE
48198 9:35 (B 131 O ) 0.036 0.036 0.030
9:58 tEiEE 0.040 0.038 0.040
9:20 ok b= hicpi 0.035 0.030 0.040
AER
. Am /M
58248 9:40 (31301 O 46) 0.030 0.036 0.035
10:02 TEiEE 0.032 0.033 0.031
9:30 FERFERER 0.032 0.035 0.030
. sAER
68218 9:51 (B 131 ) 0.029 0.030 0.031
10:12 SEEE 0.032 0.035 0.031
10:49 ok b= hicpi 0.030 0.038 0.040
EAER
. Am /M
1A 128 9:32 (31301 O 435) 0.038 0.030 0.035
9:59 TEiEE 0.040 0.032 0.032
10:29 FERE 0.030 0.032 0.030
9:45 ok b= hicpi 0.032 0.030 0.030
EAER
. [opg=
8A23E 10:06 (31301 O 435) 0.030 0.030 0.035
10:32 TEiEE 0.040 0.035 0.028
9:25 FERE 0.035 0.025 0.025
9:13 ok b= hicpi 0.035 0.035 0.032
AER
. Am /M
9868 9:34 (31301 O 45) 0.032 0.032 0.030
9:57 TEiEE 0.030 0.035 0.035
9:54 Yol b =i pi 0.034 0.035 0.030
. sAER
10H4H8 10:13 (B 131 ) 0.030 0.030 0.030
10:34 SEEE 0.035 0.035 0.025
9:49 ok b= hicpi 0.040 0.040 0.030
AER
. Am /M
1118 10:10 B 1 T O 3E) 0.035 0.038 0.035
10:34 TEiEE 0.040 0.035 0.030
9:12 Yol b =i pi 0.035 0.040 0.032
. sAER
128138 9:37 (B 131 ) 0.038 0.040 0.032
9:57 tEiEE 0.038 0.038 0.034
9:20 ok b= hicp 0.032 0.040 0.040
EAER
. Am /M
18178 9:39 (31301 O 46) 0.032 0.035 0.032
10:01 TEEE 0.038 0.048 0.035
9:20 Yol b =i pi 0.030 0.040 0.040
. BB R
2878 9:39 (B 131 ) 0.032 0.030 0.040
10:00 SEEE 0.050 0.040 0.042
9:29 ok b= hicpi 0.042 0.035 0.038
EAER
. Am /M
3878 9:49 (31301 0 436) 0.040 0.040 0.038
10:13 TEiEE 0.040 0.040 0.048




(5%] #ARNERBEHARF GrETICEToES 1 mOZERBSHRE

20214 4H19H(A) 0.036 1 Sv/h (HEETHE)
20214 5824H(A) 0.036 1 Sv/h (HEEHE)
20214% 6H21H(A) 0.036 1 Sv/h (HEETHE)
20215 78128 ((A) 0.036 1 Sv/h (HEEHE)
20214 8H23H(A) 0.036 1 Sv/h (HEETHE)
20214 98 6H(A) 0.035 i Sv/h (HEEHE)
20214108 4H(A) 0.036 1 Sv/h (H#EETHE)
20214118 18(A) 0.036 £ Sv/h (HEEHE)
20214128138 (A) 0.037 £ Sv/h (HEEHE)
2022% 1H178(A) 0.036 1 Sv/h (HEEHE)
2022% 28 7H(A) 0.037 u Sv/h (HEETHE)
20224 38 7H(A) 0.036 1 Sv/h (HEEHE)
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